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N o

by Chris Crockarell
Easy - 1:21

Instrumentation

Snare, Tenors, Cymbals, Bass Drums,
Bells, Xylophone (2 players), Tambourine, Vibra-Slap, Suspended Cymbal,
Mounted Cowbell, Ride Cymbal,
Plastic 5-Gallon Buckets, 20 or 30-Gallon Metal Trash Cans

Set-Up:
Place the buckets and trash cans on the side-line or in the front ensemble close enough to each other
so the players can hit the cans or buckets to their left and right. They should be set-up: bucket - can - bucket - can etc...
You’ll need to secure the plastic buckets to a snare stand, bottoms up, and make sure they are close to the same height as the
metal trash cans. For optimum projection, place the metal trash cans upside-down and on concrete blocks, striking the bottom.
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